PRAL R 559%7%1

B AR IE A L&

* FEERE

* GEBHAN LM

* TR FLIE L E A SR SFLIRE
* (B kAR S T AR

* HE{E:0.1mm

* ¥5E:+0.1mm

AR ARRAASA NS —
\ |||l||\||||||||||||||wmm:unmn A
5 10 15 20 25 mm : —

GO __M6-—6H NOGO

559-004-01

0.5xP i i‘ L

BR2AT G MERE
559-003-01 M3x0.5-6H 4-25mm
559-004-01 M4x0.7-6H 4-25mm
559-005-01 M5x0.8-6H 4-25mm WEREIV2RIEP)T i
559-006-01 M6x1-6H 4-25mm
559-008-01  M8x1.25-6H 5-45mm .
559-010-01  M10x1.5-6H 5-45mm '
559-012-01  M12x1.75-6H  5-45mm
559-014-01 M14x2-6H 5-45mm 6 25 42 40 7L 1F 5] B R A AU FLIR






